RESOLUTION NO. 13-83 CITY OF CENTERVILLE, OHIO

	BY COUNCILMAN	Janes	Sware	ON	THE	18th
DAY OF	April	, 1983.				

A RESOLUTION ACCEPTING THE BIDS OF KEVIN AYERS, DON HUGHES, MATT MARR AND PHILIP LORENZ FOR THE MAINTENANCE OF CERTAIN CITY PROPERTIES BETWEEN APRIL 15, 1983 AND OCTOBER 15, 1983, FOR THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO CONTRACTS IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the maintenance of certain City properties between April 15, 1983 and October 15, 1983, for the City of Centerville, pursuant to specifications prepared by the City, and

WHEREAS, Kevin Ayers, Don Hughes, Matt Marr and Philip Lorenz were the lowest and best bidders;

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

SECTION 1. That the bid of Kevin Ayers for parcels numbered 20 and 22, marked Exhibit "A"; that the bid of Matt Marr for parcel number 11, marked Exhibit "B"; that the bid of Philip Lorenz for parcel number 10, marked Exhibit "C"; and that the bid of Don Hughes for parcels numbered 1, 2, 3, 4, 5, 6, 7, 8, 9, 12, 13, 14, 15, 16, 17, 18, 19 and 21, marked Exhibit "D"; attached hereto and made a part hereof are hereby accepted and the City Manager is hereby authorized and directed to enter into any necessary Contracts to evidence acceptance of said bids and to make payments pursuant thereto.

Passed this 18th day of Ap. -983. the City Mayor Centerville, of Ohio

ATTEST: <u>Clerk of the Council of the</u> City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number (3-33), passed by the Council of the City of Centerville, Ohio, on the 124 day of 148, 148, 1983.

óf the Council

Approved as to form, consistency with the Charter and Constitutional Provisions Department of Law Robert N. Farquhar Municipal Attorney

BIDDER'S PROPOSAL

Date April 8, 1983

CITY OF CENTERVILLE 100 W. Spring Valley Road Centerville, Ohio 45459

The signer of this proposal, as bidder, declares that he/she has carefully examined the above invitation to Bid and Specifications here contained, and the purpose and agrees that if this proposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in accordance with the attached invitation to Bid and Specifications as therein set forth, for the following area for the period of time specified. The signer understands that the City may award one part, or all parts to a bidder or bidders, depending upon the result of the bid tabulation.

Parcel Num Bid Upon (each parce ber on a s line.)	List l num-	Number Weeks	of	Price Per Mowing	Total Estimate Cost Overall Mowing Service (Price per mou x no. of weeks	Week es to Mow ving
17		26	_ × .	\$14.83	\$385.58	Wed.
. 18		26	× .	\$62,96	\$1636.96	Wed.
19		26	_ × .	\$27.98	\$727.44	Wed.
20		26	_ × .	\$10.07	\$261.82	Thurs.
21		26	_ ×	\$15.39	\$400.14	Thurs.
22		26	× .	\$ 1.65	\$ 42.90	Thurs.
		26	×			
<u> </u>		26	×		~	
		Signature of Bic				jers-
		Address of	Address of Bidde		Clyo Road, Cen	terville
		Telephone Where Bidd Be Reached	ler Nay)771 (if no ansu	wer 254-4600)
	Social Security Number of Bidder		399-5	54-5012		

ITY OF CENTERVILLE 00 W. Spring Valley Road enterville, Ohio 45459

Date

he signer of this proposal, as bidder, declares that he/she has carefully examined the above nvitation to Bid and Specifications herein contained, and the purpose and agrees that if this roposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in ccordance with the attached invitation to Bid and Specifications as therein set forth, for the ollowing area for the period of time specified. The signer understands that the City may ward one part, or all parts to a bidder or bidders, depending upon the result of the bid abulation.

Bid Upon (List each parcel num- ber on a separate line.)		Weeks	•	Price Per Mowing	Total Estimated Cost Overall Mowing Services (Price per mowing <u>x no. of weeks</u>)	Day of Week to Mow
11 .		26	x	1.9.50	\$507.00	Monday
	ar T	26	X	·	- Antonio	<u></u>
	يە ي	26	ÿ	-	· · · · · · · · · · · · · · · · · · ·	
•		26	x			1
		26	x			
		26	x			•
		26	x			<u></u>
		26	x			
1.44	Sigr	nature of Bi	ddei	. Matt	Mahr	
	Addr	ress of Bidd	ler	41 Wo	attield Pl	-
	Wher	ephone Numbe re Bidder Ma Reached	er ly	_433-6	5083	
		ial Security per of Bidde		285-7	8-9657	

BIDDER'S PROPOSAL

TY OF CENTERVILLE 10 W. Spring Valley Road nterville, Ohio 45459 Date 4-12-83

e signer of this proposal, as bidder, declares that he/she has carefully examined the above vitation to Bid and Specifications herein contained, and the purpose and agrees that if this oposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in cordance with the attached invitation to Bid and Specifications as therein set forth, for the lowing area for the period of time specified. The signer understands that the City may ward one part, or all parts to a bidder or bidders, depending upon the result of the bid bulation.

	Parcel Number(s) Bid Upon (List each parcel num- ber on a separate		Number of Jeeks	•	Price Per Mowing	Total Estimated Cost Overall Mowing Services (Price per mowing	Day of Week to Now
	<u>line.</u>)		· 26	x	\$5	x no. of weeks)	
			26	^ x	\$ 25	\$ 650	Mon
	22	18	26	ž	\$5.	. 4130	Mon
	6	3.L. *	26	x	\$15	\$\$ 390	Mun
	· (y	2	26	x	# 15	¥390	Mon
	7	а а .	26	x	\$5	STI 130	Tue
k.;	8	k, 11∎	26	x	#15	\$\$390	Tue
	٩		26	x	# 15	390	Tue
		Signa	ture of B	idder	. Phil	o D Jom	•••••••••••••••••••••••••••••••••••••••
		Addre	ss of Bid	der	5424	Coppermill PL.	
		Telep Where Be Re	hone Numb Bidder M ached	er ay	435-1		
			l Securit r of Bidd	y cr	299-5	1-4953	

EXHIBIT "D"

CITY OF CENTERVILLE 100 W. Spring Valley Road Centerville, Ohio 45459

2

Date 4-11-83

The signer of this proposal, as bidder, declares that he/she has carefully examined the above invitation to Bid and Specifications herein contained, and the purpose and agrees that if this proposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in accordance with the attached invitation to Bid and Specifications as therein set forth, for the following area for the period of time specified. The signer understands that the City may award one part, or all parts to a bidder or bidders, depending upon the result of the bid tabulation.

Parcel Number(s) Bid Upon (List each parcel num- ber on a separate line.)	Number of Weeks		Price Per Mowing	Total Estimated Cost Overall Mowing Services (Price per mowing x no. of weeks)	Day of Week to Mow
·	26	x	6.00	154,00	mon
2	26	x	16.02	416.52	MON
	<u></u> 26	x	16.62	416,52	MON
<u> </u>	26	x	7.98	207.46	MOR)
5	26	x	6.00	156.00	mon
6	26	x	9:00	234.00	Ty
7	26	x	3.00	18.00	TY
8	26	x	9.00	234,00	<u>ty</u>

Signature of Bidder_

Address of Bidder

Telephone Number Where Bidder May Be Reached

433-3811

9118 mondel en Contavillejoh.

Social Security Number of Bidder

263-64-3659

CITY OF CENTERVILLE 100 W. Spring Valley Road Centerville, Ohio 45459

Date 4-11-83

The signer of this proposal, as bidder, declares that he/she has carefully examined the above invitation to Bid and Specifications herein contained, and the purpose and agrees that if this proposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in accordance with the attached invitation to Bid and Specifications as therein set forth, for th following area for the period of time specified. The signer understands that the City may award one part, or all parts to a bidder or bidders, depending upon the result of the bid tabulation.

Parcel Number(s) Bid Upon (List each parcel num- ber on a separate line.)	Number of Weeks	Price Per Mowing	Total Estimated Cost Overall Mowing Services (Price per mowing x no. of weeks)	Day of Week to Mow
9.	<u>26</u> x	6.00	154,00	TY_
10	<u>26</u> x	6.00	156,00	TY
	26 x	22.00	572,00	TY_
12	26 x	12.10	314.60	mon
	26 x	6100	156,00	Ty
14	26 x	6.00	156,00	WED
15	<u> </u>	11.30	293.80	WED
<u> </u>	<u>26</u> x			
S	ignature of Bidde	r Dom	Hugher	

Address of Bidder

Telephone Number Where Bidder May Be Reached

433-3811

9118 Mondel Les. Contenuille ab

Social Security Number of Bidder

263-64-3659

BIDDER'S PROPOSAL

CITY OF CENTERVILLE 100 W. Spring Valley Road Centerville, Ohio 45459

11:17

Date 4-11-83

The signer of this proposal, as bidder, declares that he/she has carefully examined the above invitation to Bid and Specifications herein contained, and the purpose and agrees that if this proposal is accepted, he/she will enter into a contract with the City of Centerville, Ohio, in accordance with the attached invitation to Bid and Specifications as therein set forth, for the following area for the period of time specified. The signer understands that the City may award one part, or all parts to a bidder or bidders, depending upon the result of the bid tabulation.

Parcel Number(s) Bid Upon (List each parcel num- ber on a separate line.)	Number of Weeks	Price Per Nowing	Total Estimated Cost Overall Mowing Services (Price per mowing x no. of weeks)	Nay of Week to Mow
16 .	26	x /1.30	293,80	WCD
_17	26	x 6.00	156.00	WED
8	26	× 25,00	650,00	WED
19	26	x 20.01	520,00	ThR
20	26	x 12.00	312.00	7/4R
21	26	x 6.00	156,00	HR
22	26	x 6.00	156.00	Ty
	26	x		

Signature of Bidder Womplog for

Address of Bidder 9118 Mondel Lee, Contaville ab

Telephone Number Where Bidder May Be Reached

263-64-3659

Social Security Number of Bidder